#i ncl ude <i ostreanp
usi ng nanespace std;

unsi gned const N=100;
struct nod

{

int info;
unsi gned urm
H

nod Lista[N;

unsigned prim ultim nr_elem liber[N;

int main()

{
unsigned i, n, este_vida, p, este_plina, plin=0;
int val;

pri meul ti meO;

nr_el em=0;
for(p=1; p<=N, p++)
i ber[p] =1;

cout <<"Numarul de noduri
ci n>>n;
for(i=1; i<=n && plin==0; i++)
{
este_plina=(nr_el emr=N);
if(este_plina)
{
cout<<"Lista este plina si nu mai putem sa adaugam noduri";
plin=1;

el se
cout <<"Val oarea din nod=";
ci n>>val ;

este_vi da=(nr_el em=0);
if(este_vida)

{
ul tinmeprinel;
Lista[prini.info=val;
Lista[prinm . urne0;
i ber[1] =0;
nr_el eme1;

}

el se

{
p=prim
whi | e(li ber[ p] ==0)

p++;

Li sta[ p].info=val;

Lista[ p].urnFprim
pri mep;

I'i ber[ p] =0;
nr_el em-+;



cout <<endl <<"Val orile din noduri=";

p=prim
whi | e(p! =0)
{

cout <<Lista[p].info<<" ",
p=Lista[p].urm
}

return O;

}



